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Jun: ATLLUU:

(5x+ 3)(x + 3)(4x + 4) 6x— (1 + 2x)(6x — 2)(2x — 5)
6x — (6+ 5x)(6x — 3)(3x + 5) 3x+ (2— 6x)(3x — 6)(5x — 5)

x— (4+3x0)(x— 2)(x—3) (4x + 5)(6x — 2)(x + 4)

(3x— 4)(2x + 6)(5x + 6) (4x + 5)(3x* — 3x+ 6) — (6x — 3)(6x — 4)
4x + (4 — x)(6x + 6)(3x — 4) Gx®+ )dx—1)—x —3x+5
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ToN e T

fia: Suti: ATUUY:
(5x+ 3)(x+3)(4x+ 4) 6x — (1 +2x)(6x— 2)(2x—5)
20x° + 92 + 108x + 36 —24x> + 56x° + 20x — 10
6x — (6 + 5x)(6x — 3)(3x + 5) 3x+ (2—6x)3x— 6)(5x—5)
—90x> — 213x% — 45x + 90 —90x°> + 300x” — 267x + 60
x— (4+3x)(x— 2)(x—3) (4x+ 5)(6x — 2)(x + 4)
30 + 11 + 3x— 24 24x° + 118%% + 78x — 40
(Bx—4)(2x+ 6)(5x + 6) (4x + 5)(3x2 —3x+6)— (bx —3)(6x— 4)
30x° + 86x° — 60x — 144 12x° — 33x% + 51x+ 18
4x + (4 — x)(6x + 6)(3x — 4) G2+ Ddx—1)—x —3x+5
—18x° + 78%° + 4x — 96 126 — 4% +x+ 4
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